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♪	
  Apprenons	
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♪	
  Matilda	
  ♪	
  
	
  
Dans	
  l'espèce	
  humaine,	
  	
  
le	
  processus	
  naturel	
  de	
  sexuation	
  
	
  
se	
  déroule	
  en	
  trois	
  grandes	
  étapes.	
  
	
  
Les	
  deux	
  premières	
  ont	
  lieu	
  	
  
avant	
  la	
  naissance	
  
	
  
et	
  la	
  troisième	
  lors	
  de	
  la	
  puberté.	
  
	
  
Nous	
  allons	
  voir	
  en	
  détail	
  
les	
  deux	
  premières.	
  
	
  
Durant	
  l'embryogénèse,	
  des	
  structures	
  	
  
dites	
  «	
  Indifférentiées	
  »	
  se	
  développent.	
  
	
  
Il	
  y	
  a	
  deux	
  gonades	
  primitives,	
  
	
  
deux	
  systèmes	
  de	
  canaux	
  débouchants	
  dans	
  	
  
ce	
  qu'on	
  appelle	
  «	
  Le	
  sinus	
  urogénital	
  »,	
  
	
  
un	
  bourgeon	
  appelé	
  tubercule	
  génitale	
  qui	
  	
  
surmonte	
  l'ouverture	
  du	
  sinus	
  urogénital	
  
	
  



et	
  autour	
  de	
  cette	
  ouverture,	
  les	
  replis	
  
uretraux	
  et	
  les	
  bourrelets	
  génitaux.	
  
	
  
La	
  première	
  étape	
  est	
  celle	
  de	
  la	
  
transformation	
  des	
  gonades	
  primitives	
  
	
  
qui	
  commence	
  quand	
  l'embryon	
  a	
  entre	
  
six	
  et	
  sept	
  semaines.	
  
	
  
Ce	
  precessus	
  est	
  contrôlé	
  par	
  
de	
  nombreux	
  gènes,	
  
	
  
mais	
  l'un	
  d'entre	
  eux,	
  appelé	
  SRY	
  
a	
  un	
  effet	
  déterminant	
  
	
  
sur	
  la	
  trajectoire	
  que	
  va	
  prendre	
  
cette	
  transformation.	
  
	
  
Si	
  tous	
  les	
  gènes	
  impliqués	
  s'expriment	
  
normalement,	
  
	
  
en	
  présence	
  du	
  gène	
  SRY,	
  
les	
  gonades	
  deviennent	
  des	
  testicules	
  
	
  
et	
  en	
  son	
  absence,	
  
elles	
  deviennent	
  des	
  ovaires.	
  
	
  
Comme	
  ce	
  gène	
  est	
  en	
  principe	
  porté	
  
par	
  le	
  chromosome	
  Y,	
  
	
  
l'embryon	
  développe	
  en	
  principe	
  
des	
  ovaires	
  s'il	
  a	
  un	
  karyotype	
  XX	
  
	
  
et	
  des	
  testicules	
  s'il	
  a	
  un	
  karyotype	
  XY.	
  
	
  
La	
  seconde	
  étape	
  est	
  le	
  développement	
  
des	
  voies	
  génitales	
  
	
  
et	
  des	
  organes	
  génitaux	
  externes.	
  
	
  
Cette	
  fois,	
  c'est	
  selon	
  la	
  présence	
  ou	
  
l'absence	
  de	
  substances	
  



	
  
en	
  principe	
  produites	
  par	
  les	
  testicules	
  
	
  
que	
  la	
  trajectoire	
  de	
  développement	
  
va	
  différer.	
  
	
  
Il	
  s'agit	
  principalement	
  de	
  l'hormone	
  
anti	
  mullerienne,	
  de	
  la	
  testosterone	
  
	
  
et	
  de	
  la	
  dihydrotestosterone.	
  
	
  
En	
  présence	
  de	
  testicules	
  produisant	
  
ces	
  substances,	
  
	
  
si	
  le	
  reste	
  de	
  l'environnement	
  
biologique	
  est	
  habituel,	
  
	
  
les	
  canaux	
  de	
  Müller	
  regraissent	
  
	
  
et	
  les	
  canaux	
  de	
  Wolff	
  se	
  développent	
  
pour	
  former	
  l'épidydime,	
  
	
  
les	
  canaux	
  déférents	
  et	
  les	
  vésicules	
  
séminales.	
  
	
  
Le	
  sinus	
  urogénital	
  se	
  développe	
  
pour	
  former	
  l'urètre,	
  
	
  
la	
  prostate	
  et	
  les	
  glandes	
  de	
  Cowper,	
  
	
  
et	
  le	
  tubercule	
  génital	
  et	
  des	
  tissus	
  
environnants	
  se	
  développent	
  pour	
  former	
  
	
  
le	
  pénis	
  avec	
  ses	
  deux	
  corps	
  caverneux	
  
et	
  son	
  corps	
  spongieux.	
  
	
  
Les	
  replis	
  uretraux	
  fusionnent	
  
	
  
et	
  l'orifice	
  de	
  l'urètre	
  migre	
  	
  
à	
  l'extrémité	
  du	
  pénis	
  
	
  
et	
  les	
  bourrelets	
  génitaux	
  fusionnent	
  



aussi	
  pour	
  former	
  le	
  scrotum.	
  
	
  
Enfin,	
  les	
  testicules	
  quittent	
  l'abdomen	
  
pour	
  descendre	
  dans	
  le	
  scrotum.	
  
	
  
En	
  l'absence	
  de	
  testicules,	
  
	
  
si	
  le	
  reste	
  de	
  l'environnement	
  biologique	
  
est	
  habituel,	
  
	
  
ce	
  sont,	
  au	
  contraire,	
  les	
  canaux	
  de	
  Wolff	
  
qui	
  regraissent,	
  
	
  
et	
  les	
  canaux	
  de	
  Müller	
  qui	
  se	
  développent	
  
pour	
  former	
  les	
  trompes,	
  l'utérus	
  
	
  
et	
  le	
  haut	
  du	
  vagin.	
  
	
  
Le	
  sinus	
  urogénital	
  se	
  développe	
  pour	
  
former	
  d'un	
  côté,	
  
	
  
l'urètre	
  et	
  les	
  glandes	
  de	
  skene,	
  
	
  
de	
  l'autre,	
  le	
  bas	
  du	
  vagin	
  
et	
  les	
  glandes	
  de	
  bartholin.	
  
	
  
Le	
  tubercule	
  génital	
  et	
  des	
  tissus	
  
environnants	
  se	
  développent	
  pour	
  former	
  
	
  
le	
  clitoris	
  et	
  les	
  bulbes	
  du	
  vestibule.	
  
	
  
Les	
  replis	
  uretraux	
  restent	
  ouverts	
  
et	
  donnent	
  le	
  vestibule	
  de	
  la	
  vulve	
  
	
  
et	
  les	
  petites	
  lèvres,	
  
	
  
et	
  les	
  bourrelets	
  génitaux	
  restent	
  
également	
  ouverts	
  
	
  
et	
  deviennent	
  les	
  grandes	
  lèvres.	
  
	
  
À	
  un	
  à	
  deux	
  centimètres	
  à	
  l'intérieur	
  



du	
  vagin,	
  
	
  
un	
  vestige	
  du	
  tissu	
  qui	
  séparait	
  
à	
  l'origine	
  le	
  sinus	
  urogéntial	
  
	
  
des	
  canaux	
  de	
  Müller	
  subsiste	
  
généralement.	
  
	
  
C'est	
  ce	
  qu'on	
  appelle	
  l'hymen.	
  
	
  
Il	
  se	
  présente	
  la	
  plupart	
  du	
  temps	
  sous	
  	
  
la	
  forme	
  d'un	
  anneaux	
  irrégulier	
  de	
  tissus	
  
	
  
autour	
  de	
  la	
  lumière	
  du	
  vagin.	
  
	
  
Parfois,	
  quand	
  du	
  tissu	
  subsiste	
  
au	
  milieu	
  de	
  cette	
  lumière,	
  
	
  
La	
  première	
  pénétration	
  par	
  un	
  corps	
  
étranger	
  peut	
  provoquer	
  son	
  déchirement	
  
	
  
et	
  une	
  petite	
  hémorragie.	
  
	
  
La	
  troisième	
  étape	
  du	
  processus	
  de	
  	
  
sexuation	
  est	
  celle	
  
	
  
de	
  l'achèvement	
  du	
  développement	
  
de	
  l'appareil	
  génital	
  
	
  
et	
  s'accompagne	
  d'autres	
  	
  
modifications	
  du	
  corps	
  
	
  
et	
  se	
  déroule	
  à	
  la	
  puberté	
  sous	
  
l'effet	
  des	
  hormones	
  gonadiques.	
  
	
  
Pour	
  plus	
  d'info,	
  je	
  vous	
  renvoie	
  à	
  la	
  
vidéo	
  consacrée	
  à	
  la	
  puberté.	
  
	
  
En	
  l'ensemble	
  du	
  processus	
  de	
  sexuation	
  
est	
  donc	
  long	
  et	
  complexe,	
  
	
  
il	
  se	
  déroule	
  en	
  plusieurs	
  étapes	
  	
  



et	
  implique	
  de	
  nombreux	
  gènes	
  
	
  
et	
  diverses	
  hormones.	
  
	
  
À	
  chaque	
  étape,	
  une	
  variante	
  peut	
  faire	
  
dévier	
  la	
  trajectoire	
  du	
  développement	
  
	
  
vers	
  un	
  résultat	
  qui	
  ne	
  correspondra	
  
ni	
  au	
  type	
  féminin	
  habituel,	
  
	
  
ni	
  au	
  type	
  masculin	
  habituel.	
  
	
  
C'est	
  ce	
  qu'on	
  appelle	
  l'intersexuation	
  
	
  
qui	
  concerne	
  de	
  l'ordre	
  de	
  	
  
deux	
  personnes	
  sur	
  cent.	
  
	
  
L'intersexuation	
  ne	
  doit	
  pas	
  être	
  	
  
confondue	
  avec	
  les	
  cas	
  
	
  
d'organes	
  génitaux	
  ambigus	
  à	
  la	
  naissance	
  
	
  
qui	
  ne	
  représentent	
  qu'un	
  tout	
  petit	
  
sous	
  ensemble.	
  
	
  
Elle	
  commence	
  au	
  niveau	
  du	
  karyotype	
  
qui	
  peut	
  n'être	
  ni	
  XX,	
  ni	
  XY,	
  
	
  
c'est	
  ce	
  qu'on	
  appelle	
  les	
  aneuploïdies	
  
des	
  hétérochromosomes.	
  
	
  
Les	
  personnes	
  XXY	
  ou	
  X,	
  par	
  exemple,	
  
qui	
  présentent	
  un	
  dosage	
  
	
  
en	
  gène	
  du	
  chromosome	
  X	
  inhabituel,	
  
développent	
  un	
  phénotype	
  sexué	
  atypique.	
  
	
  
Une	
  autre	
  variante	
  est	
  la	
  mosaïque	
  
du	
  karyotype,	
  
	
  
c'est-­‐à-­‐dire	
  la	
  présence	
  dans	
  le	
  corps	
  
à	
  la	
  fois	
  de	
  cellules	
  XY	
  



	
  
et	
  de	
  cellules	
  XX	
  ou	
  X.	
  
	
  
Le	
  développement	
  est	
  alors	
  très	
  variable,	
  
	
  
mais	
  il	
  arrive	
  en	
  particulier	
  que	
  les	
  
gonades	
  soient	
  faites	
  à	
  la	
  fois	
  
	
  
de	
  tissus	
  ovariens	
  et	
  de	
  tissus	
  
testiculaires,	
  
	
  
ou	
  bien	
  qu'il	
  y	
  aie	
  un	
  ovaire	
  d'un	
  côté	
  
et	
  un	
  testicule	
  de	
  l'autre.	
  
	
  
C'est	
  ce	
  qu'on	
  appelle	
  	
  
«	
  l'hermaphrodisme	
  vrai	
  ».	
  
	
  
Il	
  arrive	
  aussi	
  que	
  le	
  karyotype	
  soit	
  XX,	
  
	
  
mais	
  que	
  l'un	
  des	
  deux	
  X	
  soit	
  porteur	
  
du	
  gène	
  SRY,	
  
	
  
ce	
  qui	
  va	
  donner	
  un	
  phénotype	
  plutôt	
  
masculin,	
  mais	
  avec	
  des	
  particularités.	
  
	
  
Par	
  ailleurs,	
  la	
  possession	
  de	
  versions	
  
mutées	
  de	
  certains	
  gènes	
  
	
  
qui	
  jouent	
  sur	
  la	
  production	
  de	
  
testosterone	
  par	
  les	
  glandes	
  surreinales,	
  
	
  
sur	
  la	
  transformation	
  de	
  la	
  testosterone	
  
en	
  dihydrotestosterone,	
  
	
  
ou	
  encore	
  sur	
  le	
  fonctionnement	
  des	
  
récepteurs	
  aux	
  endrogènes	
  
	
  
va	
  également	
  donner	
  des	
  	
  
résultats	
  atypiques.	
  
	
  
Hormis	
  l'intersexuation,	
  de	
  manière	
  
plus	
  générale,	
  



	
  
chaque	
  individu	
  possède	
  un	
  cocktail	
  
unique	
  de	
  variante	
  génétique	
  
	
  
et	
  faisant	
  que	
  son	
  corps	
  va	
  développer	
  des	
  	
  
traits	
  plus	
  ou	
  moins	
  atypiquement	
  masculins	
  
	
  
et	
  des	
  traits	
  plus	
  ou	
  moins	
  	
  
atypiquement	
  féminins.	
  
	
  
La	
  classification	
  des	
  karyotypes,	
  
des	
  organes	
  génitaux,	
  
	
  
et	
  à	
  plus	
  forte	
  raison	
  des	
  corps	
  humains	
  
en	
  deux	
  catégories	
  
	
  
est	
  donc	
  toujours	
  un	
  peu	
  arbitraire.	
  
	
  
Du	
  point	
  de	
  vue	
  biologique,	
  la	
  seule	
  
catégorisation	
  de	
  sexes	
  vraiment	
  binaire	
  
	
  
est	
  celle	
  de	
  nos	
  gamètes.	
  
	
  
C'est	
  là	
  que	
  la	
  culture	
  prend	
  parfois	
  
le	
  relais	
  de	
  la	
  nature	
  
	
  
pour	
  accentuer	
  la	
  différence	
  des	
  sexes.	
  
	
  
Donc	
  ça	
  concerne	
  en	
  premier	
  lieu	
  	
  
les	
  personnes	
  nées	
  avec	
  
	
  
des	
  organes	
  génitaux	
  ambigus	
  
	
  
sur	
  le	
  corps	
  des	
  quels	
  on	
  intervient	
  	
  
souvent	
  dans	
  la	
  petite	
  enfance	
  
	
  
pour	
  les	
  faire	
  rentrer	
  dans	
  l'une	
  ou	
  
l'autre	
  des	
  catégories.	
  
	
  
Et	
  ces	
  pratiques	
  culturelles	
  ne	
  se	
  
limitent	
  pas	
  à	
  ces	
  personnes,	
  
	
  



un	
  régime	
  riche	
  en	
  protéines,	
  
la	
  musculation,	
  
	
  
la	
  prise	
  de	
  stéroïdes	
  anabolisants,	
  
	
  
ou	
  encore	
  la	
  chirurgie	
  	
  
d'augmentation	
  du	
  pénis	
  
	
  
sont	
  par	
  exemple	
  des	
  pratiques	
  
qui	
  accroissent	
  artificiellement	
  
	
  
la	
  masculinité	
  du	
  coros	
  des	
  hommes.	
  
	
  
De	
  même,	
  un	
  régime	
  pauvre	
  en	
  protéines,	
  
l'évitement	
  de	
  certains	
  sports,	
  
	
  
l'épilation,	
  ou	
  encore	
  la	
  chirurgie	
  	
  
d'augmentation	
  mammaire	
  
	
  
accroissent	
  artificiellement	
  la	
  féminité	
  
du	
  corps	
  des	
  femmes.	
  
	
  
À	
  l'inverse,	
  certains	
  hommes	
  rendent	
  
volontairement	
  leur	
  apparence	
  
	
  
moins	
  masculine	
  ou	
  plus	
  féminine,	
  
	
  
et	
  certaines	
  femmes	
  leur	
  apparence	
  moins	
  
féminine	
  ou	
  plus	
  masculine.	
  
	
  
Ces	
  personnes	
  sont	
  dites	
  «	
  transgenres	
  ».	
  
	
  
Enfin,	
  certaines	
  personnes	
  s'identifient	
  
davantage	
  aux	
  personnes	
  de	
  l'autre	
  sexe	
  
	
  
que	
  le	
  leur,	
  et	
  souhaitent	
  avoir	
  une	
  
identité	
  sociale	
  conforme	
  à	
  ce	
  ressentit.	
  
	
  
C'est	
  ce	
  qu'on	
  appelle	
  «	
  la	
  transidentité	
  »	
  
	
  
qui	
  peut	
  s'accompagner	
  ou	
  non	
  d'une	
  
transformation	
  volontaire	
  du	
  corps.	
  



	
  
♪	
  Matilda	
  ♪	
  


